[ Effici

ency vs vertpos |

= 0.5
£0.09
4
2.0.08
2
©0.07
=]

5 0.06
0.05
0.04
0.03
0.02

0.01

.................................................

................................................

..............................................

........................................

4

0.95]
0.9

-
L= .
e
1
g
¥

1072

Efficiend

107 1

10 0?
TP vertr (cr%)

[ fake+duplicates vs vert r

= - T S - -
” i : : :
>

o L

2 - : :

154 : :

© 0.8y HE
st

S [ +

+ 5 : : :
L 0.6 Lt
< L : : :
8 : :

Ratio

T

||n{vcuu| 1660evt

—ehoC

11111

R Th
nggé %%igﬁ 1RO TLIERS 1000evt

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03
0.02)
0.01

1.0

Ratio

il

i

055

10 20 30
TP vert z (cm)

-20 -10 0

[ Effici

ency vs. sim PV z |

N~ 0.
>
20.09
£
=0.08
20.07
Py
£0.06
(&}
£0.05
(]
0.04
0.03
0.02)
0.0

=

0%55"15 -10 5 0 5

10 15 20
Sim. PV z (cm)

.z
o
©
I

o
fe)
I

fake+duplicates vs

Ratio

T
td
ot it

-10 0 10

20

track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

0.8

0.7

0.6

0.5

0.4

0.3

0.2

fake+duplicates rate vs Sim. PV z

0.1

0

Ratio

0.9

0.8

1510 5 0 B 10

15 20

Sim. PV z (cm)



	Contents
	Page 1


